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(A)4.67 x 1076 1/ (B)5.67 x 106 1/, | Egg;

(C)6.67 x 1076 1/ (D) 7.67 x 1076 1/ [ om | lsem
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(A) 0y =24544 psi ; 0, =7456 psi b mm00ps

(B) 0, =24246 psi 5 0, =7754 psi % % ox = 24000 psi

(C) 1 =24944 psi ; 0, =7056 psi

(D) o4 =25433 psi ; g, =6567 psi
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() 4.23 ™M/ (B) 4.85 ™/ T
(C)5.76 MY/ (D) 5.91 M/ (R ih ) 200 kg

[B] 27. 4t B#77F » - B/ 2.5m £ 8 300N 2353 Fl4 » £ kT4 Tie? » o tolffuA b fokk
o 2 T AR FREERIFARL05m2 SF o HRTS TES LR ?

(A)75N (B) 150 N
(C) 200N (D) 250 N
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Frea] 38 iR AL FS y 2 dra el s e 2 (H =t om) 47 ,
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(A) 6624 cm? (B) 6736 cm? %Zy 7 3
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[C] 44. ™ slfcit e § 357

(A)d R g + [ 3 B30 8 8
By & 5 ¢z TEEHE R
Q) bt 5 M2 i g B b beit B AR A

[A]45. £ 5 W2 tHM > e @r2Fl¥ TR@8d > 2385 0 PP PFHZwed S 07
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